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QUESTION 1

What COBOL data type is defined by Decimal data within the Complex Flat File stage?
A. COMP

B. COMP-1

C. COMP-2

D. COMP-3

Correct Answer: C

QUESTION 2

Which of the following is TRUE when using a data set created with a 4 node config file?
A. Data sets are operating system files

B. Data is stored in a non-persistent form

C. The data set control file holds all your data

D. A Data Set stage can have 1 input link and multiple output links

Correct Answer: B

QUESTION 3

Which of the following is TRUE about Transformer Stage when
$APT_TRANSFORM_COMPILE_OLD_NULL_HANDLING is set?

A. A Modify Operator is inserted at run time before a Transformer stage to handle null values

B. If an input column that is used in the derivation expression of an output column contains a null value, then the
resulting output column contains a null.

C. If an input column that is used in the derivation expression of an output column contains a null value, then that row
will be dropped or, if a reject link had been defined, rejected

D. If an input column that is used in the derivation expression of an output column contains a null value, then the
resulting output column will be calculated ignoring the Null value.

Correct Answer: C

QUESTION 4

By default, how much internal memory does the Sort use per partition?
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A. 10MB
B. 20MB
C. 25MB
D. 30MB

Correct Answer: B

QUESTION 5

https://lwww.pass2lead.com/c2090-424.html
2024 Latest pass2lead C2090-424 PDF and VCE dumps Download

A job consist of Sequential File Stage -> Copy Stage using auto partitioning -> Sequential File stage. We need the
target Sequential File stage rows to be in the same order as the source file. Which collection algorithm should be
chosen in the target Sequential File stage?

A. Auto

B. Same

C. Round robin
D. Sorted merge

Correct Answer: D
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